£

1. The distance of the point A(a, b, c) from
the x-axis is

A) a

B) b2 +c?
C) Ja?+b?

D) a_2+b2

MATHEMATICS

2.1faLlb and (@+b).L(@+mb),
then mis

A) 1 B) &/ [of
-l
C) - D) |Elz

3. [fthe points (-1, 3, 2), (-4, 3,-2) and
(5, 1, m) lie on a straight line then 7 and
m are

A) 3,10
B) -3,-10
C) -3,10
D) 3,10

4. The equation of a circle passing
through the point (1, 1) and the point
of intersection of the circles
x2+y2+13x -3y =0 and
2x2+2y2 +4x -7y -25=0 is

A) 4x®+4y2+30x-13y-25=0
B) 4x2+4y%+30x-13y +25=0
C) 4x®-4y2_30x +13y-25=0
D) 4x2-4y?+30x-13y-25=0

T

1. x-wgafg A b, o)figh___ #)
A) a

B) 1/bz +c?
C) ya®+b?

D) a2 +b?

2. 3R ALb IR (@+Db).L(@+mb)

TZAm___ R

A) 1 B) [af/|p[*
ef

C) -1 D) |B|2

3. IR forg (-1, 3, 2), (—4, 3, -2) 3k

5, m)y TR @I W, @ sk m
e M)

A) 3,10

B) =3, -10

C) -3, 10

D) 3,-10

4. Wi (1, 1) 3T x2+ y2 +13x -3y =0

MM 2x2+2y2 +4x -7y —25=0 %

wforese fiig ¥ o are) g9 =1 e
?1

A) 4x2?+4y2130x-13y-25=0

B) 4x2+4y2+30x-13y+25=0

C) 4x® -4y —30x+13y-25=0

D) 4x%-4y®+30x-13y-25=0

LPage No.ﬂ 3EE

:
Qcollegedumag
‘‘‘‘‘ 's largest Student Review Platform




2

5. The digit in the unit place of 72" is
A) 1
B) 2
C) 3
D) 4

. Ifcos“(%]:log[%]x,then
x'23'/2""“3’1=

A) ny B) —n%y
C) y? D) y

. The angle between the curves
x2+y? =25 and
X*+y? ~2x+3y—43=0 at (-3, 4) is

8) tan(Y4s)
c) % D) tan'(3;)

. Aman g’ tallmoves away from a source
of light 20’ above the ground level, his
rate of walking being 4 m.p.h. At what
rate is the tip of his shadow moving ?

A) tan7(1)

12
7
3
B)?’
.. 40
C)_T_

D) None of these

5 7" S umm WA wIE R
A) 1
B) 2
C) 3
D) 4

6. W cos“(%)ﬂog(%:—]x g

XY + Xy =
A) n¥y - B) -n?
C) y? D)y

7. (-3, ) WRI%H x2+y2 =25 3R

x2+y2 -2x+3y-43=0 Ffig @
Cau| gl

B) tan'(Yg)
C) % D) tan(3;)

A) tan=(1)

8. sgﬁr@mﬁﬁmw@rmlﬁz

SR % W % A ¥ AT ¢ | 6w
=IeT 1 W 4 Tt wf ger | 3w e
fAF AR ATA R ?

o &8 =
4 N8 Ve SR

4
&
&,

"
O
]

w
o
-
o
F-3
)
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10.

The maximum area of a rectangle that
can be inscribed in a circle of radius
2 units is

A) 8 sq. units

B) 4 sq. units

C) 8x sq. units

D) 4r sq. units

If the function f(x) defined by

100 99 2
f(x)=%.6f%9-;+...:+x?+x+‘l,
then £(0) =
A) 100f'(0)

B) 1
C) 100

D) ane of these

11.

~ 2,

ifa=b(modm) andxisan integer, then
which of the following is incorrect ?

A) (a+x)=(b+ x)(modm)
B) (a~x)=(b-x)(mod m)
C) ax =bx (mod m)

D) (a+x)=(b+x)(mod m)

Ifa and b are positive integers such that
(a® ~b?) is @ prime number, then

A) a®-b%=(a+b)

B) a®-b%?=a-b

C) a®?+b2=a-b

D) a®+b?=a+b

9.

10.

11.

12.

L Page No. a

£
T L
2 w1 BT % 39 § siftea omaw @
SrferRan S 21

A) 8 Tl swrgal
B) 4 = gwmat
C) 8n =i swhidal
D) 4n i gehrsal

AR HeH f{(x) T

itarfye o sy, &Y 1(0) =
A) 100f/(0)
B) 1

C) 100
D) w& & = 7

afda =b (mod m) 3t x uF ks 8, @
FefaRer d e a7

A) (a+x)=(b+x)(modm)
B) (a-x)=(b-x)(modm)
C) ax =bx (mod m)

D) (a+x)=(b+x)(modm)

9 & 3R b T Ut 3 36
(a® - b?) 3T HEw B, @

A) a?-b? =(a+b)

B) a®-b®=a—b

C) a®+b%?=a-b

D) a®+b%=a+b
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13. Which of the following is false ?

14,

15.

A) (N, +)isa semi-group
B) (Z,+)is a group
C) (N,-) isagroup

D) Set of ail cube roots of unity is an

abelian finite group under

multiplication
123456
If f =
f( 4516]586
then ! is
123456
ANl2a67 5 1
123456
Bls 2 1345
123456
Clla 25135

4]
(=]

123 4
D) le3 1524

In a group G, the equations ax = b and
ya =b have

45

A) No solutions in G
B) Infinite solutions in G
C) Unique solution in G

D) Depends on a and b

13.

14.

15.

LPage No. a

Frafafen & 57 a1 smger 2 7

A) (N, +) T sd wrg &

B) (Z, +) e awg 2

C) (N.) whag?

D) T % wed T % Wit ot it
Ty aferr wfte Ty 3

4
12
D)l 3

W G % Wi ax = b 3t ya = b &)
B!

A) G T %I g 98

B) G ¥ sFd gaaN

C) G & U 91 gty

D) a 3 b W fnfr s 2

i
o 2
N
[8) ] -t
= w
X B o
o o o
N

12 3456
C) 2

—- W
g
N
A~ o,
~——
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16.

17,

18.

19.

The equation of the tangent and normal

totheellipse x? + 2y2 + 2x — 4y =14 =0
at(2,-1)is

A} 3x-4y-10=0,4x+3y—-5=0
B) 4x+3y—-10=0,3x+4y-5=0
C) 3x—4y-5=0,4x+3y-10=0
D) 3x~4y-10=0,4x-3y—-5=0
If the line 2x + By =2 touches the

hyperbola x? - 2y2 = 4, then the point
of contact is

A) (~4,6)
B) (_41 3 ‘\/E)
C) (4r v “/E)

'D) (4,46)

The angle between two diagonals of a
cube is

A) cos™ ()/\/5)
B) cos™ ()6)

C) 30°
D) 45°

The equation of the plane which bisects
the line joining (3, 0, 5) and (1, 2, —1 ) at
right angles is

A) 2x+y+22=7
B) 2x+2y-6z=7
C)x-y+2z=7

D) x-y+3z=7

16.

17.

18.

19.

LPage No. ﬂ

defgd x?+ 292+ 2% — 4y — 14 =0
(2, —1) W =i @ 3R stfiress w51
i v I

A) 3x—4y-10=0,4x+3y-5=0
B) 4x+3y—-10=0,3x+4y~5=0
C) 3x—~4y-5=0,4x+3y—-10=0
D) 3x-4y—-10=0,4x—3y—-5=0

IRIGT 2x + /6y =2 3tfras™
X2 - 2y? =4 ) vl e 3, ) Hd
Big___ 2

A) (-4,6)

B) (-4,-+/6)

C) (4,—6)

D) (4,6)

HaA IS a8

o 1)
B) cos™ ( ):/3 )

C) 30°
D) 45°

(3, 0, 5) 3k (1, 2, —1) =+ TEpIw F
SigaT Y ! i e wnew
=1 affeo g

A) 2x+y+2z=7

B) -2x+2y—-6z=7
Clx—y+2z=7

D) x—y+3z=7
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20. The equation of the line passing through 20. faig (5, 3, 2) & T T afk Yar

T =

the point (5, 3, 2) and perpendicular to X-2 y-3 z-4 3
. X-2 y-3 z-4. 1 = 1
the lines 3 7~ and X1 y—1 z+1
- =T = e
X-1_y-1_z+1. 2 1 0 ’
2 1 g 0ay S Eaica 2 )
X-5 _y-3_z-2 X-5_y-3 _z-2 |
N3 =% AT Ta |
X+1_y-2_ 2-3 Xx+1_y-2 z-3
B T T -
X-5_y-3 _z-2 X-5 _y-3_z-2 |
R =t T |
|
X-5_y-3 z-2 X-5_y-3 z-2 s
D = 3 —_—— = -
) =T ar e |
|
21. Inverse of a diagonal non-singular 21, ﬁ%ﬁwﬁqwmyﬁfﬁq !
matrix is A)Hﬂﬁﬁm&&' |
A) Symmetric matrix ) B) R @afim S
B) Skew-symmetric matrix C) forert g _
C) Diagonal matrix D) i sy {
D) Scalar matrix |
2 3 .
1 22.3:1113?!&1;5'[5 _1:,—A+B,EI€IA
22, Ifthe matrix[ ]=A+B,whereA
9 H=il wti sree 2R B frww wwfi aregg |
is symmetric and B is skew-symmetric 2 SE- , |
thenB = : 1|
10 0 -1 |
10 [0 -1 A) Fo J B) |, oJ
Alo 1 11 o - :
i r :
0 -1 (-1 0 0 -1 -10
©) [-1 0] D[ o 1] Dl-1 0 2 R |
B LPage No. 8] 3EE
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23.

24,

25.°

If A is 3 x 4 matrix and B is a matrix such
that A'B and B’A are both defined, then
the order of B is

fremasdd, ABwHET__ 2
A) 4x 4 B) 3x3
C) 3x 4 D) 4x3 e il
: - _ C) 3x4 D) 4x3
2 00
The inverse of the matrix [0 3 0fis 2 00
00 4 24. =g [0 3 o wVRmm___ ¥
0 0 4
Y 0 0
A0 % o % 00
0;40n o, A} |0 ) 0}
0 0 ¥
1F2 20 [2 0 0
—10 3 0
L e B) 54|0 3 O
0 0 4
(S5 0k™ 0 -
oals 3 6 i
050 x4 St ok
% 0.0 % 0 0
Dy|0 % 0 D)[O % O
0 0 %) 0 0 %
Ifa,a,,...,a,,..areinG.P, then 25. T ay,a,, ..., a,, ... AT FA T,
loga,  loga,,, loga,,, loga, loga,,, loga,,,
logay, .5 logay, 4 1092, 5 is at |loga,, loga, ., loga, ., s
loga,, ¢ loga, ., loga,,, loga,, s loga,,, , loga,, 5
A) 0 gl
B) 1 A) O
C) -1 el
D) None of these g;%gaﬁgqﬁ

23. 3R A 3T 3 x 4 ¢ 3K B 314g 3
e § Fred AB 3fit B'A 3 ol

ey

“_'—‘—‘-*-—-'_'th—---—.—.__’.‘__ _%, T ——

3EE
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26. The value of the integral
Je*{t(x) + F(x) }ox is
A) e*F(x)+c
B) e*f(x)+¢

eX
—+cC

) 10

X

D) f,—(xj'l-c

27. The value of the mtegral _[

a»0is
A) 1 B) 0

C)—;‘- D)

28. The value of the integral

e*(x? + 1)
I x+12 ox =

el

B) e"!og(XHJ
x{ X+1
C) e —_‘iJ

(x -1
q Bx
D) x+1

cos® x
- dx

1

26. wwrer [ {f(x) + (x) Jax a1 7
2l

A) ef(x)+c

B) e*t()+ ¢

X

e
C) T +cC

X

D) 'f,(_x)'f"c

27.11#:3@{.[ Xdx, a > 0 % g

%l

A) 1 B) 0

e
28. TR [ o

Qcollegeduma

3EE




b

29. The area enclosed between the
parabolas y2 = 16x and x2 =16y is

64
A) 3 S4 units

6
B) -2—2— $q. units

16
C) 3 59 Units

D) None of these

30.. The solution of y* = gX~¥ 4 y2a is
1‘\).2’,(9"—t-:"‘)—x3 =c
B) e¥-e*-x3=¢
C)e¥-e*+x3=¢
D) 3(e'-e*)+x®=¢

31. The characteristic equation of a matrix A
I8 2%~ 53232 + 2/ =0 then ladjA| =

A) 4 B) 25
C)9 D) 30

32. The area of region bounded by the lines
y=mx, x=1and x = 2and the x-axis is
7.5 sq. units, then m is

A) 2
B) 3
C) 4
D) 5

29. WEeH y? =16x 3R x2 =16y ¥ anag
% 19 %1 B3mg 2l

A)%faﬁm‘&a?

2 o
B) ~g—eaﬁ3'ﬂ€m

C) -13—eaﬁwr§m*
D) 3 & #$ 7}

0. y=e*Yix Y FEHE_____ 3
A) 3(e'-e*)-x3=¢
B) e~ e*-x%=c
C) e¥-e*+x3=¢
D) 3(e¥ -e*)+ x®=¢

31. g A =1 fafire @l
AP-5-31+2=0¢8 @
ladjA| =

A) 4
C)9

B) 25
D) 30

32, i@y:mx,x:ﬁﬂtx:zaﬂ‘{x-amﬁ
Wi & w1 Sy 7.5 o 508 B,
@ m 21

A) 2
B) 3
C) 4
D) 5
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33. The order and degree of

34.

35.

EI )

A) 2,2
B) 2,4
C) 1,2
D) 1,4

Let A, B, C, D be the points with
-2j-k,

4k, -7+ 2]+ 2k and

4f + 5] + Ak respectively. If the points

A B, C,Dlie on a plane, then the

value of A is
A) O

0 T

position vectors 3}
2f+3j~

74
C)._3_

D) 1

Let &, b, & be three vectors having
magnitudes 1, 1 and 2 respectively.

Ifax(@xE) +b=0,thenthe angle
between 3 and © is

A
B) 5%
C) %

D) Both A) and B)

. 2 }é 2 2
33. {1+(%J} =[%321] 1 9 3N

34.

35.

LPage No. 1Zj

ferft
A) 2,2
B) 2,4
C) 1,2
D) 1,4

71

AR ST A, B, C, D fegait = @Ry
afew w37 - 2]~k 2i + 3] - 4k,
~i+2j+2k 3 4T+ 5]+ 0k &) 3R
g A, B, C, Dwmaw e, & A =

I 1
A) 0

o &

~37
C)_?’_

D) 1

A AT &, b, ¢ o wftw &, R
AR w1, 13 221 9R
dx(@x3)+b=0 EAGIIER L
Cickagan 2

A) T
B) 5%
C) %

D) A) sik B) g
3EE
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36. The vertices of the hyperbola are at 36. affiwRaea & ¥ (-5, -3) 3K (-5, 1 )2

37.

(-5, —3) and (-5, —1) and the extremities
of the conjugate axis are at (=7, —2) and
(=3, -2), then the equation of the
hyperbola is

3R Tt 31 F B (~7, —2) 3K (=3, —2)
2, 1 stferotaea w1 e :

(v-2P° (x-57_

A) _(_3:;1.2)2_0(.-45)2:1 A) 122 452 1
Ay + X +

B) (Y+12)2_(x-;5)2=1 g) Y 1 )2_( - ):1.

o) (><-215),2_(y+12)2=1 C) (X;5) _(y+12) o

D) (><.__-45)2_(y—12)2=1 py & —45)2 (y —1.2)2 .

Two dices are thrown simultaneously.
The probability of obtaining a total score
of5is

A %
B) Mg
¢) Ko
D) Y

37. < uTH =1 U WY Yok e & | e i

S w R WRme ____®)
NS
B) g
©) Yo
D) Y

:
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38. If A and B are events with
i =3
PIAUB) =3, P(A)=2/ and 38. TR A SR B w3k P(A UB) =T,
P(A\B)= ¥ then P(B)is PK)=24 it PANB)= 1 &,
_ F(B) I
A Y n X
B) 24 ) 2
| 1.
© %% 0 % |
D) }4 D) Y, |
= U’ag? No. 13] 3EE
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39.

40.

41,

The probability that among 7 persons,
no 2 were born on the same day of a
week is.

A) %
B) 7%
c) o
D) %
For the events A and B, P(A)=3/,

PB)= 35, P(ANB) = 1, then
PAB)=

A )
B) Y5
) ¥
D) Y%

The value of 4tan‘“‘(—- )- KL

A) tan“(J—J
139

. W ‘
B) tan™'| ——
(5]

C) tan~'(239)

" D) tan"(139)

39

40.

41.

. TTA AT & offer 2 S0 e o @ R

AR TR __ 3
A 2 |

B) 7%

c) 7

D) %

A 3 B sl % forg, P(A)= 3/,

PB)= )5, PANB) =}, &, @
P(A/B)=

A Y
B) Ys
c) 3,

3EE

:
Qcollegedunlaé
India’s largest Student Review Platform




43.

i

ey o3 {5 =«
42, Ifsin™"| 2 |+cosec!2 =1
[ (5) (4) 2,thenthe

value of x
A) 3
B) 2
C) 1
D) O

The general solution of

J3cosx + sinx =+/2 |, forany integer
“n"is

A) nm+—=

oA
HA

B) nm——1

ol a
IS E]

C) 2nn—— =+

o
A

D) 2N+~ +

™A
R

The imaginary part of conjugate of

[

A) 1
B) i
C).1
D) i :

42,

43.

 PageNo, 15

3R sin™’ (%)-!- c%ec‘1(g-J=g , X
WEHEA g

A) 3

B) 2

C) 1

D) 0

J3cosx + sinx =J§,ﬂﬁ§w\’$“ﬁ"%
e wmr T |

A} Nnm+—*

;A
AR

B) m——*

»| A
&l

C) 2nm~—+

I
4

o I}

2nn:+ElLE
D) 6 4

1+i

5
(1—_7] % YW I Hed e
81

A) -1
B) i
C)il
D) i

3EE
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45. iIf w is an imaginary cube root of 1,
then the value of 12 — w) (2 - 0®) +
2B -®)(3-w?) +...+(n-1)
(n-w)(n-w?) is

nin+ 1)

-n
2
2 2

n“(n + 1) -n

4

n(n+ 1)
—_ 4 n
2

n?(n + 1)
4

A)
B)
C)

+n

46. lf x+y =tan~'y and y" =f(y)y’ then

C)

‘%II\J <IN <= |

b 1o

D)

e

1
47. If f(x) = xe{w"); if x# 0 then
0 ; ifx=0
which of the following is correct ?
A) f(x) is continuous and (0) does not
exist
B) f(x) is not continuous
C) f(x} is continuous and f'(0) also
exists
D) None of these

45. 3R 1 T FET R TS @ B, A
2-w)(2- )+ 2(3-w)(3-a?)
+ot (N=1) (n- ) (n- ©?) = g

H |

n(n2+'i)_n

n2(n4+1)2—n

n(n+ Din
2
n2(n + 1)
4

A)
B)
C)
D)

+n

46. IR x+y=tanly 3R y =f(y)y 2,
q f(y) =

A)
B)

C)

-<m|,-\J <IN <=

|
no

D) —3

-
(2}

47. R f(x)={xe{ﬁ+%];- TRXx 20 7
0 ; Ikx=0
Ffafead S oo ?
A) f(x) e ® 3l 1(0) aifdres & 7 2
B) f(x) Fe=r 71 &
C) f(x) Frem# aft 17(0) sh s & 2
D) ¥ A #E 7
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48. lf y= sin“—21-( 1+x +,/1-—x)then

y’:

1
241-x2

A)

]
2J1-x2

B)

1
2J1+x2

C)

Ly

2142

Hx™y" = (x +y)™*" then VB

D)

49.

X

-y
A) % B) ;

© C) D)

-<'>'<
x|z

50. lfy=x"x. y then y’ =

._y2

A XA<yiogx)

2

y

Y 1=yiogx

2

y

©) 1= yiogn)

_y2

D) T———

1-ylogx

49.

50.

LPage No. 1ﬂ

D)

48. W y=sin"§1(,/1+x+,/1-x) 2, ﬁ

it
21+ x2

D)

TR x"‘y":(x-i-y)"'*" %,?ﬁ' Y -

Y

A) > B)

X
y

C)

S

D)%

1-ylogx

[ i —
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